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WA 35,435 10kg 2,160 —[ 1,755 || 1,350 || dtimE b
FEIZA LA 34,0201 10kg 2,376 || 1,512 | 648 || dtimE b
ZIES 6,840] 10kg 2,376 1| 1,944 1| 1,512 1| diEmE FH #b
H% 46,510 15kg 1,944 1 1,450 1 972 -| K% b
FrY 70,7301 10kg 1,296 — 1,010 1 124 1] #BE
EFS5NAZED 3,133] 200g 151 | 146 | 140 || Z HE b
FhE 2,452 5kg 4,644 1 3,553 17| 1,512 1] Fll 4t
AN 7,169 5kg 2,700 1| 1,782 1 864 T| Wi L b
b=k 11, 409 dkg 2,106 || 1,377 | 648 || ZH KE
EpoY 36, 186 5kg 2,160 = 1,674 7| 1,188 1] & HBE +#h
BAEA 48,350 10kg 1,404 1 945 1 486 || dtiEE KB b
E—<> 7,670 150g 86 13 59 Ry Zh th
MAL & 16, 725 5kg 2,268 — 1,482 1 702 1] #5 it
Fhul & 65,9501 10kg 2,160 || 1,242 | 324 || dimE fth
LY 2,813] 10kg 3,780 —| 2,808 || 1,836 || & &E i
EL g 5,980 10kg 3,348 T| 2,964 1| 1,944 || disE 4o
f-FEh&E 75,996 20kg 2,484 —| 2,052 || 1,620 || dimE 4o
La R 19,270] 10kg 2,700 = 1,674 | 648 || K% fth
ES=Yrbs 96] 500g 12,960 || 9,757 1| 7,884 17| #E
LWV 4,011 100g 151 108 65 s
[ 8 % ]

HA 55,5801 10kg 3,240 - 2,592 —| 1,944 —| £E
2h5 39,7801 10kg 3,564 1| 2,592 1| 1,620 1| &#% ftb
138 5 7,670 10kg 3,564 1| 2,862 1| 2,160 || &5
2k 30,575 10kg 3,888 1| 3,024 1| 2,160 —| &5 f
Ff-ra B 16,184] 7.5kg 3,564 = 2,106 1 648 1| &R Il
Elg 7,319] 3.5kg 5,184 1| 4,212 1| 3,240 -] Wi E%H
EA—=x 4,490 5kg 6,912 || 5,616 || 4,320 - MWL b
LWs < 2,517  300g 292 — 211 — 130 —| #1FL fib
BEAQY 2,585 8kg 12,960 || 4,420 || 2,160 —] &I fh
<Y 964 10kg 10,800 —| 10,260 1| 8,640 — ki ith
GE) 1. ZORIE. FHRIABODRAELFDLEDNDTT,

2. miRE My T&ERE1 TRE] THBRE] 1B OSERETY,

L. F52FDEWNMEEIE TEFbFEL] ELTLET,
3. EHRDEDERMNIE. FIADBHROME L LB L-EEEEZRLTVET, ==L, BIAICERE]

AEMot=h, BB EEUNRBIEEEIERMELTVES,
4. THA RU TEEME (SiE. FiE. RE) | &, TERSIOGE (€Y (AL RSl 83t
5l B=FHRET] IXTOHT. REHEORLEVHLDERTLTLET,




